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Hinchingbrooke School Science Department 

KS3 Homework Task

Forces HW6 – Satellites collide
Date set:

Date Due in:

On the following page is information related to the task. You may need to do additional research to achieve the maximum level possible.

· Answer all questions, if you use PowerPoint please print off and stick in your book 

· Fill in your details below

	Name:
	Form:

	Teacher:
	Science Set:


	Feedback from teacher:



	Student comment:




Science in the News: Satellites collide

Satellites collide
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On Tuesday, 10th February 2009 two satellites collided almost 800 km above the Earth’s surface. This was the first time such an incident has occurred. Since 1957, about 6000 satellites have been sent into orbit and NASA say that about 3000 of these are still operational. The 560 kg operational US communications satellite, launched in 1997, hit a non-operational Russian satellite, launched in 1993, that the Russian civilian space agency say was a 950 kg ex-military satellite. Iridium, the company that owned the US satellite said it would be able to replace the lost satellite with one of its other satellites in orbit; any communications problems its customers experienced would be for only a few days. 

The collision between the two satellites happened at such high speed that both satellites were smashed into hundreds of fragments, which are now orbiting Earth between 500 km and 1300 km above the Earth’s surface. NASA is tracking the hundreds of pieces of wreckage, since each piece may be travelling at a speed of several kilometres per second, and could destroy any other satellite that it hits. They hope that most of the pieces of debris will burn up in the Earth’s atmosphere. 

At first NASA was concerned that there was a small risk that some of the debris might hit the International Space Station (ISS), which orbits Earth at a height of nearly 400 km. A NASA spokesperson said that the ISS is able to manoeuvre to avoid debris if necessary (so far the ISS has orbited Earth more than 60 000 times and has only had to manoeuvre eight times). In early March the astronauts on the ISS had to take refuge in the Soyuz ‘lifeboat’ capsule for a few minutes while a piece of debris passed close to the ISS, but did not collide. 

Questions

1 How many satellites have been launched since 1957? 

2 What does ‘operational’ mean?

3 Describe how the collision affected customers using the US satellite.

4 Why is NASA tracking the pieces of wreckage from the satellite collision?

5 In as much detail as you can, describe what may happen to most of the pieces of debris. 

6 Suggest a way in which the ISS might be able to manoeuvre.

Challenge
Imagine that you are an astronaut on the International Space Station. Write a weblog describing the satellite collision and how it affected you. Use the Internet to find out more about the satellite collision or about life on the ISS, if you wish.

A communications satellite relays radio, television, and other signals between different points in space and on Earth (NASA)











